
CHAPTER 20

QUESTIONS

1.
Comparability enables users to relate accounting information to a benchmark or standard. The benchmark may be in the form of another firm’s financial statements or financial data of the same firm but for some other time period. An accounting change could make it difficult to compare data from one period to another or from one firm to another, thus detracting from comparability. For example, if a company switched from straight-line depreciation to double-declining-balance depreciation in 2008, depreciation expense for 2008 could not be compared with prior years’ depreciation expense without knowing the effects of the change in accounting for depreciation.


Consistency means that a company applies the same methods to similar transactions and events from period to period. Therefore accounting changes, especially changes in methods used, would detract from the informational characteristic of consistency.

2.
a.
Change in accounting estimate. As a result of experience or the availability of new information, a company may revise estimates used in the measurement of income.


b.
Change in accounting principle. A change in accounting principle or method may be required due to changing economic conditions or as a result of a new pronouncement issued by an authoritative standard-setting body.

3.
Alternative procedures suggested for reporting accounting changes are as follows:


a.
Restate the financial statements presented for prior periods to reflect the effect of the change. Adjust the beginning retained earnings balance of the earliest period reported for the cumulative effect of the change in all preceding years.


b.
Make no adjustment to statements presented for prior periods. Report the cumulative effect of the change in the current year as a direct entry to Retained Earnings.



c.
Same as (b) except report the cumulative effect of the change as a special item in the income statement instead of directly to Retained Earnings.


d.
Report the cumulative effect in the current years as in (c) but also present limited pro forma information for all prior periods included in the financial statements, reporting “what might have been” if the change had been made in the prior years.


e.
Make the change effective only for current and future periods with no catch-up adjustment.

4.
a.
Examples of areas for which changes in accounting estimates are often made include these:



(1)
Uncollectible receivables



(2)
Useful lives of depreciable or intangible assets



(3)
Residual values for depreciable assets


(4)
Warranty obligations


(5)
Amounts of mineral reserves to be depleted


(6)
Actuarial assumptions for pensions or other postemployment benefits


(7)
Number of periods benefited by deferred costs

b.
A change in estimate should be reflected either in the current period or in current and future periods. No retrospective adjustments are to be prepared for a change in the accounting estimate.


c.
This procedure is considered proper because changes in estimates are considered to be part of the normal accounting process and not corrections or changes of past periods.

5.
A change in depreciation method is accounted for as “a change in accounting estimate effected by a change in accounting principle.” The existing depreciable book value is depreciated over the remaining useful life using the new depreciation method.

6.
a.
Examples of changes in accounting principle that a company may make are as follows:



(1)
A change in accounting for long-term construction contracts, such as from the percentage-of-completion method to the completed-contract method.



(2)
A change in inventory valuation method used, such as from LIFO to weighted average.


b.
A change in accounting principle is implemented by recomputing all finan-
cial statement amounts for the preceding years (at least those that will be inclu-ded in the current year’s comparative financial statements). These recomputed amounts are included in the comparative financial statements reported this year. Any income effect in even earlier years is shown as an adjustment to the beginning balance in Retained Earnings for the earliest year reported. Note disclosure gives a line-by-line comparison of these retrospectively adjusted financial statements and the financial statements (using the former accounting principles) that were originally reported.
7.
Financial statements best serve the needs of users when they are comparable to statements of prior periods or to statements of other companies. Any change in principle used in preparation of financial statements may affect comparability and could weaken the usefulness of reported information. Therefore, only justifiable changes are permissible.

8.
a.
The effects of a change in accounting principle should be reported as a direct adjustment to the current year’s beginning retained earnings balance when it is impractical to determine the precise periods when past differences arose.


b.
The effects of a change in accounting principle should be reflected prospectively only when it is impossible to determine the past impact of an accounting change such as with a change to LIFO.

9.
According to FASB Statement No. 154, a change in depreciation method is accounted for as a change in estimate. Therefore, changes would be made in depreciation amounts for the current and future 
periods based on the new data and the new depreciation method.

10.
Following a business combination, the combined company must provide pro forma revenue and net income information for the year of the combination and the preceding year. Computations must be made to adjust the reported numbers to what they would have been if the combination had occurred at the beginning of the current year and to what they would have been if the combination had occurred at the beginning of the preceding year.

11.
a.
The existing depreciable book value is depreciated over the remaining useful life using the new accelerated depreciation method.


b.
The existing depreciable book value is depreciated over the remaining useful life using the new straight-line depreciation method.


c.
All financial statement amounts for the preceding years (at least those that will be included in the current year’s comparative financial statements) are recomputed. These recomputed amounts are included in the comparative financial statements reported this year. Any income effect in even earlier years is shown as an adjustment to the beginning balance in Retained Earnings for the earliest year reported. Note disclosure gives a line-by-line comparison of these retrospectively adjusted financial statements and the financial statements (using the former accounting principles) that were originally reported.


d.
Because it is usually not possible to recreate the LIFO layers from past periods, the ending inventory of the preceding FIFO period will be the beginning inventory for the new LIFO period. The complete effect of the change will be recognized in current and future periods.


e.
This is a change in estimate and would require a current-period adjustment to increase the liability account balance. The offsetting debit would be made to a current warranty expense account. Future years estimates would reflect the increased rate.


f.
The same as (c).


g.
This new information results in a change in estimate. There is no adjustment to Retained Earnings. The account receivable from that customer may need to be reduced to the expected final realizable value and Allowance for Bad Debts will be debited.


h.
The inventories and patent accounts would be reduced to their salvage values and the loss charged against operating income of the current period. Because a change in estimate of this period does not affect prior-period statements, the retained earnings account usually would not be affected.

12.
a.
For bookkeeping purposes, accounting errors are to be treated as prior-period adjustments and recorded as a direct adjustment to Retained Earnings. The 
reported comparative financial statements are restated to correct for the errors.


b.
Counterbalancing errors are those that, if not detected during the current period, are offset by an equal misstatement in subsequent periods.

13.
All errors are counterbalancing errors. Therefore, Retained Earnings is correctly stated at December 31, 2008.

14.
a.
Cost of goods sold would be overstated and net income would be understated by the cost of the goods not included in ending inventory.


b.
Assuming the periodic inventory method is used, Inventory would be debited for the amount of the inventory and Cost of Goods Sold would be credited for an equal amount.

PRACTICE EXERCISES

PRACTICE 20–1
CHANGE IN DEPRECIATION LIFE

Straight-line depreciation: ($100,000 – $4,000)/12 years = $8,000 per year

Accumulated depreciation as of December 31, 2007: $8,000 per year ( 4 years = $32,000

Book value as of December 31, 2007: $100,000 – $32,000 = $68,000

Depreciation expense for 2008: ($68,000 – $15,000)/11 years remaining = $4,818

PRACTICE 20–2
CHANGE FROM DOUBLE-DECLINING-BALANCE TO STRAIGHT-LINE DEPRECIATION

Double-declining-balance percentage: (100%/10 years) ( 2 = 20%



Depreciation
Accumulated
Book

Year

Computation


Amount

Depreciation

Value


2005
$100,000 ( 0.20
$20,000
$20,000
$80,000

2006
  $80,000 ( 0.20
16,000
36,000
64,000

2007
  $64,000 ( 0.20
12,800
48,800
51,200

Depreciation expense for 2008: ($51,200 – $0)/7 years remaining = $7,314

PRACTICE 20–3
DEFERRED TAX IMPACT OF A CHANGE IN DEPRECIATION METHOD

1.
Straight-line depreciation: ($100,000 – $0)/10 years = $10,000 per year

	


Year
	
Double-Declining-
Balance Depreciation

(used for books)
	Straight-Line
Depreciation

(used for taxes)
	

Depreciation
Difference
	

Deferred
Tax Effects

	2005
	$20,000
	$10,000
	$10,000
	$4,000

	2006
	16,000
	10,000
	6,000
	2,400

	2007
	  12,800
	  10,000
	    2,800
	  1,120

	Cumulative before 2008
	$48,800
	$30,000
	$18,800
	$7,520


The deferred tax ASSET reported on December 31, 2007, totals $7,520. The deferred tax amount is an asset because the deduction for tax purposes has been less than the depreciation expense on the books. Of course, recognition of this deferred tax asset assumes that it is more likely than not that future income will be sufficient to allow for the realization of the asset.

PRACTICE 20–3
(Concluded)

2.

	



Year
	First Double-
Declining-Balance
and then Straight-Line Depreciation

(used for books)
	
Straight-Line
Depreciation

(used for taxes)
	


Depreciation
Difference
	


Deferred
Tax Effects

	Cumulative before 2008
	$48,800
	$30,000
	$18,800
	$7,520

	2008
	7,314
	10,000
	(2,686)
	(1,074)


Deferred tax asset on December 31, 2008: $7,520 – $1,074 = $6,446

PRACTICE 20–4
CHANGE FROM STRAIGHT-LINE TO DOUBLE-DECLINING-BALANCE DEPRECIATION

Straight-line depreciation: ($100,000 – $0)/10 years = $10,000 per year


Depreciation
Accumulated
Book

Year

Amount

Depreciation

Value

2005
$10,000
$10,000
$90,000

2006
10,000
20,000
80,000

2007
10,000
30,000
70,000

Double-declining-balance percentage: (100%/7 years remaining) ( 2 = 29%

Depreciation expense for 2008: $70,000 ( 0.29 = $20,300

PRACTICE 20–5
CHANGE FROM LIFO TO FIFO: FIRST YEAR RETAINED EARNINGS

LIFO reserve as of January 1, 2006: ($140 – $100) = $40

After-tax impact on profits from the realization of the LIFO reserve as of January 1, 2006: $40 ( [1 – 0.40] = $24

Adjusted retained earnings balance as of January 1, 2006: $540 + $24 = $564

PRACTICE 20–6
CHANGE FROM LIFO TO FIFO: YEAR-BY-YEAR RETAINED EARNINGS CALCULATIONS

1. and 2.


2008
2007
2006

Sales

$
2,000
$
1,500
$
1,200

Cost of goods sold—FIFO


1,170

880

710
Gross profit

$
830
$
620
$
490

Income tax expense


332

248

196
Net income

$
498
$
372
$
294

2008
2007
2006

Beginning retained earnings

$
1,230
$
858
$
540

Add adjustment for cumulative effect on prior years


of retrospectively applying the FIFO method of 


inventory valuation


0

0

24
Adjusted retained earnings, January 1, 2006

$
1,230
$
858
$
564

Add net income (under FIFO)


498

372

294
Ending retained earnings

$
1,728
$
1,230
$
858
PRACTICE 20–7
CHANGE FROM LIFO TO FIFO: YEAR-BY-YEAR INCOME TAXES PAYABLE CALCULATIONS

The change from LIFO to FIFO will create additional taxes payable. This additional amount was not paid up through 2007. The additional amount for these years is computed as follows:

Before 2006:
Cumulative extra gross profit under FIFO = LIFO reserve 
= ($140 – $100) = $40;


Additional income taxes = $40 ( 0.40 = $16

2006:
Extra gross profit under FIFO = Increase in LIFO reserve = $50 – $40 = $10;

Additional income taxes = $10 ( 0.40 = $4

2007: 
Extra gross profit under FIFO = Increase in LIFO reserve = $70 – $50 = $20;

Additional income taxes = $20 ( 0.40 = $8

2008: 
The income taxes payable for 2008 will just be the FIFO taxes reported under the newly adopted FIFO method = $332


2008
2007
2006

Income taxes payable (originally reported)

$
332
$
240
$
192

Cumulative additional FIFO taxes


28

28

20
Total income taxes payable

$
360
$
268
$
212
PRACTICE 20–8
CHANGE FROM LIFO TO FIFO: INCOME STATEMENT COMPARATIVE DISCLOSURE

	For 2008
	Computed
	As Reported
	Effect of

	
	Using LIFO
	Using FIFO
	Change

	Sales
	$2,000
	$2,000
	$   0

	Cost of goods sold
	  1,200
	  1,170
	  (30)

	Gross profit
	$   800
	$   830
	$ 30

	Income tax expense
	     320
	     332
	   12

	Net income
	$   480
	$   498
	$ 18


	For 2007
	As Originally
	
	Effect of

	
	Reported
	Using FIFO
	Change

	Sales
	$1,500
	$1,500
	$   0

	Cost of goods sold
	     900
	     880
	  (20)

	Gross profit
	$   600
	$   620
	$ 20

	Income tax expense
	     240
	     248
	     8

	Net income
	$   360
	$   372
	$ 12


	For 2006
	As Originally
	
	Effect of

	
	Reported
	Using FIFO
	Change

	Sales
	$1,200
	$1,200
	$   0

	Cost of goods sold
	     720
	     710
	  (10)

	Gross profit
	$   480
	$   490
	$ 10

	Income tax expense
	     192
	     196
	     4

	Net income
	$   288
	$   294
	$   6


PRACTICE 20–9
CHANGE FROM LIFO TO FIFO: IMPRACTICAL TO IDENTIFY YEARLY DIFFERENCES

LIFO reserve as of January 1, 2008: ($220 – $150) = $70

After-tax impact on profits from the realization of the LIFO reserve as of January 1, 2008: $70 ( [1 – 0.40] = $42





2008

Beginning retained earnings

$1,188

Add adjustment for cumulative effect on prior years


of retrospectively applying the FIFO method of inventory valuation

       42
Adjusted retained earnings, January 1, 2006

$1,230

Add net income (under FIFO)

     498
Ending retained earnings

$1,728
PRACTICE 20–10
DISCLOSURES FOLLOWING A BUSINESS COMBINATION



2008

2007



Results

Results


2008
for
2007
for


Reported
Combined
Reported
Combined



Results

Companies

Results

Companies

Revenue
$700,000
$750,000
$600,000
$680,000

Net income
50,000
56,000
40,000
53,000

2008 combined income computation:


$50,000 + $8,000 – Extra depreciation ($20,000/10 years) = $56,000

2007 combined income computation:


$40,000 + $15,000 – Extra depreciation ($20,000/10 years) = $53,000

PRACTICE 20–11
MISSTATEMENT OF INVENTORY

1.
Inventory

25,000



Retained Earnings


25,000

2.
Retained Earnings

10,000



Inventory


10,000

PRACTICE 20–12
FAILURE TO RECORD INVENTORY PURCHASES

1.
Retained Earnings

10,000



Purchases


10,000

2.
Retained Earnings

10,000



Inventory


10,000

PRACTICE 20–13
FAILURE TO RECORD INVENTORY PURCHASES AND INVENTORY

1.
Inventory

10,000



Purchases


10,000

2.
No correcting entry is necessary. The beginning inventory is too low by $10,000, but that was corrected when the purchase was recorded on January 5; under the perpetual method, the purchase amount would have been added directly to 
inventory.

PRACTICE 20–14
MISSTATEMENT OF SALES

a.
Cash

25,000



Retained Earnings


25,000


Alternatively, the debit can be to Accounts Receivable first, with the $25,000 then recorded as a normal collection on account.

b.
Accounts Receivable

25,000



Retained Earnings


25,000

c.
Retained Earnings

10,000



Accounts Receivable


10,000


When the cash is collected, it will be found to be $10,000 short. The remaining accounts receivable would be removed from the books with this correcting 
entry.

d.
Retained Earnings

10,000



Accounts Receivable


10,000

PRACTICE 20–15
FAILURE TO RECORD ACCRUED EXPENSE

1.
Retained Earnings

1,000



Rent Expense


1,000

2.
No correcting entry is necessary. However, the following corrections would be necessary if, in 2009, comparative financial statements for 2007 and 2008 were presented:



2008


2007


Reported rent expense
decreased by $1,000
increased by $1,000

Reported net income
increased by $1,000
decreased by $1,000

Reported ending retained earnings
no change
decreased by $1,000

PRACTICE 20–16
FAILURE TO RECORD PREPAID EXPENSE

1.
Insurance Expense

2,500



Retained Earnings


2,500

2.
No correcting entry is necessary. However, the following corrections would be necessary if, in 2009, comparative financial statements for 2007 and 2008 were presented:



2008


2007


Reported insurance expense
increased by $2,500
decreased by $2,500

Reported net income
decreased by $2,500
increased by $2,500

Reported ending retained earnings
no change
increased by $2,500

PRACTICE 20–17
FAILURE TO RECORD ACCRUED REVENUE

1.
Consulting Revenue

4,000



Retained Earnings


4,000

2.
No correcting entry is necessary. However, the following corrections would be necessary if, in 2009, comparative financial statements for 2007 and 2008 were presented:



2008


2007


Reported consulting revenue
decreased by $4,000
increased by $4,000

Reported net income
decreased by $4,000
increased by $4,000

Reported ending retained earnings
no change
increased by $4,000

PRACTICE 20–18
FAILURE TO RECORD UNEARNED REVENUE

1.
Retained Earnings

6,000



Service Revenue


6,000

2.
No correcting entry is necessary. However, the following corrections would be necessary if, in 2009, comparative financial statements for 2007 and 2008 were presented:



2008


2007


Reported service revenue
increased by $6,000
decreased by $6,000

Reported net income
increased by $6,000
decreased by $6,000

Reported ending retained earnings
no change
decreased by $6,000

PRACTICE 20–19
FAILURE TO RECORD DEPRECIATION

1.
Annual depreciation expense of $1,000 ($10,000/10 years) should have been recognized in 2006 and 2007.


Retained Earnings (2 ( $1,000)

2,000



Accumulated Depreciation


2,000

2.
Annual depreciation expense of $1,000 ($10,000/10 years) should have been recognized in 2006, 2007, and 2008.


Retained Earnings (3 ( $1,000)

3,000



Accumulated Depreciation


3,000

PRACTICE 20–20
IMMEDIATELY EXPENSING EQUIPMENT THAT IS SUBSEQUENTLY SOLD

1.
Depreciation expense of $1,000 ($10,000/10 years) should have been recognized in 2005, 2006, and 2007. This would have made the book value of the equipment on the date of sale $7,000 ($10,000 – $3,000 accumulated depreciation). Thus, there should have been a loss on the sale of $1,500 ($5,500 sales proceeds – $7,000 book value). As it was, the entire $5,500 sales amount was recorded as a gain because the equipment had no recorded book value. The necessary 
correcting entry is as follows:


Loss on Sale of Equipment

1,500


Gain on Sale of Equipment

5,500



Retained Earnings


7,000


The correction to beginning Retained Earnings reflects an increase of $10,000 because of the incorrect equipment expense but a reduction in $3,000 because of the $1,000 depreciation expense that should have been recognized three times.

2.
The following corrections would be necessary in the 2008 comparative financial statements:



2007


2006


Reported depreciation expense
increased by $1,000
increased by $1,000

Reported net income
decreased by $1,000
decreased by $1,000

Reported ending retained earnings
increased by $7,000
increased by $8,000

PRACTICE 20–21
INCORRECT CAPITALIZATION

1.
Annual depreciation expense of $1,000 ($10,000/10 years) was recognized in 2006 and 2007.


Retained Earnings [$10,000 – (2 ( $1,000)]

8,000


Accumulated Depreciation

2,000



Equipment


10,000

2.
Annual depreciation expense of $1,000 ($10,000/10 years) was recognized in 2006, 2007, and 2008.


Retained Earnings [$10,000 – (3 ( $1,000)]

7,000


Accumulated Depreciation

3,000



Equipment


10,000

PRACTICE 20–22
DISCLOSURE OF A PRIOR-PERIOD ADJUSTMENT

As previously reported, December 31, 2007

$
100,000

Correction for the years 2006 and 2007


(8,000)

As adjusted, December 31, 2007

$
92,000

Plus: Net income for 2008


25,000


$
117,000

Less: Dividends for 2008


(10,000)

Retained earnings, December 31, 2008

$
107,000
EXERCISES

20–23.
Year
Double-Declining-Balance
2004
$50,000 ( 0.20
=

$10,000

2005
40,000 ( 0.20
=

8,000

2006
32,000 ( 0.20
=


6,400

2007
25,600 ( 0.20
=


5,120






$29,520

Book value, January 1, 2008:


$50,000 – $29,520 = $20,480


2008 Depreciation Expense [($20,480 – $500)/5]

3,996




Accumulated Depreciation—Machinery


3,996

20–24.

Depreciation expense for 2008:



2005 ($1,200,000/8)

$150,000



2006


150,000



2007


150,000


Depreciation to date

$450,000



2008 = [($1,200,000 – $450,000)]/7 = $107,143 annual straight-line 



depreciation.

20–25.
1.
2008



Dec.
31
Bad Debts Expense

9,750






Allowance for Bad Debts


9,750







$650,000 ( 0.015 = $9,750


2.
Because the change is a change in estimate, no cumulative adjustment is made. The change is handled prospectively, in the current and future periods. However, the balance in the allowance for bad debts account should be analyzed to determine whether net accounts receivable are reported at their net realizable value. In this exercise, the balance in the allowance account may be too high because of the overestimate of bad debt expense in past years, suggesting the need for a special reduction in bad debt expense this year to adjust the balance to the correct amount.


3.
The prior years’ financial statements were correctly stated given the information available at the time. Any time one is dealing with estimates, there will always be a difference between the estimate and the actual occurrence. If financial statements were restated every time an estimate was found to have been incorrect, financial statements would be restated every year. Because long-term assets lasted longer or shorter than expected or their salvage values were realized upon disposal, the financial statements would be revised. This would then reduce investor confidence in the financial statements because they would be revised and changed year after year.

20–26.
1.
Depreciation expense for 2006 and 2007 is calculated as follows:
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2.
To calculate depreciation expense for 2008, a new book value must be computed as of the date of the change in estimate:



Original purchase price

$
600,000



Less: Depreciation for 2 years ($27,000 ( 2)



54,000


New book value

$
546,000



The subsequent depreciation then uses this new book value and incorporates the revised salvage value.
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3.
There is no entry to account for the change in estimate at the beginning of 2008.

20–27.
1.
Original depletion rate =
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2.
Depletion expense—Year 1:




$2.75 ( 90,000 tons = $247,500
Accounting entry:




Depletion Expense

247,500





Accumulated Depletion—Mining Property


247,500

The debit could also be to Copper Ore Inventory with a follow-up entry debiting Cost of Ore Sold and crediting Copper Ore Inventory.

Depletion expense—Year 2:




$2.75 ( 120,000 tons = $330,000

Accounting entry:




Depletion Expense

330,000





Accumulated Depletion—Mining Property

330,000

20–27.
(Concluded)

3.
Year 3 depletion rate =
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Accounting entry:




Depletion Expense

516,250





Accumulated Depletion—Mining Property

516,250





$3.6875 ( 140,000 tons = $516,250

(Note: Because this involved a change in accounting estimate, the entry reflects only current and future changes with no retrospective adjustment of prior periods. The remaining 300,000 tons of ore would be 
depleted at the new rate of $3.6875/ton.)

20–28.
1.
Straight-line depreciation:



Depreciation




Computer Purchases


2005


2006


2007



2005 ($45,000 – $4,500)/5 years
$8,100
$  8,100
$
8,100



2006 ($25,000 – $2,500)/5 years


4,500

4,500



2007 ($30,000 – $3,000)/5 years


   


5,400



$8,100
$12,600
$18,000



Total depreciation for the 3-year period = $38,700


2.
Sum-of-years’-digits depreciation:





Depreciation



Computer Purchases


2005



2006


2007



2005 ($40,500 ( 5/15)
$13,500



2005 ($40,500 ( 4/15)


$10,800



2006 ($22,500 ( 5/15)


7,500



2005 ($40,500 ( 3/15)



$  8,100



2006 ($22,500 ( 4/15)



6,000



2007 ($27,000 ( 5/15)




   9,000



$13,500
$18,300
$23,100


Total depreciation for the 3-year period = $54,900

3.
Depreciation expense in 2008 after the change to sum-of-the-years’-digits depreciation:



Computers purchased in 2005:



Total historical cost of computers purchased: $45,000



Total straight-line depreciation for the 3-year period = $24,300



Book value as of January 1, 2008: $45,000 – $24,300 = $20,700



Total expected salvage value as of January 1, 2008: $4,500



Expected remaining useful life as of January 1, 2008: 2 years



Sum of the years’ digits as of January 1, 2008: 2 + 1 = 3



2008 depreciation expense: ($20,700 – $4,500) ( (2/3) = $10,800

20–28.
(Concluded)



Computers purchased in 2006:



Total historical cost of computers purchased: $25,000



Total straight-line depreciation for the 2-year period = $9,000



Book value as of January 1, 2008: $25,000 – $9,000 = $16,000



Total expected salvage value as of January 1, 2008: $2,500



Expected remaining useful life as of January 1, 2008: 3 years



Sum of the years’ digits as of January 1, 2008: 3 + 2 + 1 = 6



2008 depreciation expense: ($16,000 – $2,500) ( (3/6) = $6,750



Computers purchased in 2007:



Total historical cost of computers purchased: $30,000



Total straight-line depreciation for the 1-year period = $5,400



Book value as of January 1, 2008: $30,000 – $5,400 = $24,600



Total expected salvage value as of January 1, 2008: $3,000



Expected remaining useful life as of January 1, 2008: 4 years



Sum of the years’ digits as of January 1, 2008: 4 + 3 + 2 + 1 = 10



2008 depreciation expense: ($24,600 – $3,000) ( (4/10) = $8,640



Total 2008 depreciation: $10,800 + $6,750 + $8,640 = $26,190

20–29.

1.
Cumulative after-tax profit difference for years before 2006: $7,500


Adjusted retained earnings balance as of January 1, 2006: $173,000 + $7,500 = $180,500

2.



2008


2007


2006



LIFO net income
$78,000
$54,500
$62,500


After-tax excess of FIFO net income 


  over LIFO net income 

6,750

4,500

3,750

Reported net income 
  (after FIFO adoption)
$84,750
$59,000
$66,250
20–30.


Cumulative after-tax profit difference for years before 2008: $7,500 + $3,750 + $4,500 = $15,750



Kamila Stores



Retained Earnings Statement


For the Year Ended December 31, 2008


Retained earnings, January 1, 2008, as previously reported

$
260,000


Add adjustment for the cumulative effect on prior years of


changing from LIFO to FIFO


15,750

Adjusted retained earnings, January 1, 2008

$
275,750


Add net income per income statement ($78,000 + $6,750)


84,750




$
360,500


Deduct dividends declared


17,500

Retained earnings, December 31, 2008

$
343,000
20–31.
1.
Bad debts

Change in accounting estimate.



Building depreciation

Change in accounting estimate effected by a change in accounting principle.



Printing press depreciation

Change in accounting estimate effected by a change in accounting principle.

2.
December 31, 2008, journal entries:

Bad Debt Expense

13,075*

Allowance for Bad Debts


13,075

*$345,000 ( 0.035 = $12,075; $12,075 + $1,000 debit 


balance in allowance account.

Depreciation Expense

6,875*

Accumulated Depreciation—Building


6,875

*$550,000 cost – $481,250 depreciation = $68,750 


remaining to depreciate; $68,750/10 = $6,875.

Depreciation Expense

22,500*

Accumulated Depreciation—Printing Press


22,500

*$930,000/25 years = $37,200 per year; $37,200 ( 13

years = $483,600 accumulated depreciation;

($930,000 – $483,600)/(200,000 hours – 76,000 hours)
= $3.60 depreciation per remaining hour of use;
$3.60 per hour ( 6,250 hours = $22,500

20–32.
1.
2008



Jan.
10
Willis, Capital

20,400*





Glassett, Capital

13,600†





Inventories


19,000






Accumulated Depreciation


12,000






Interest Payable


3,000





*Willis (0.60 ( $34,000 = $20,400)




†Glassett (0.40 ( $34,000 = $13,600)


2.
2008



Jan.
10
Interest Expense

3,000





Rent Revenue

21,000





Cost of Goods Sold

19,000






Inventories


19,000






Accumulated Depreciation


12,000






Interest Payable


3,000






Willis, Capital


5,400






Glassett, Capital


3,600


If the books are still open for 2007, the only errors that affect the capital accounts are rent revenue recognized in 2007 that should have been accrued in 2006 ($21,000) and the 2006 depreciation understatement ($12,000). The net effect of these errors is computed as follows:


Willis [0.60 ( ($21,000 – $12,000)]

$5,400


Glassett [0.40 ( ($21,000 – $12,000)]

3,600

20–33.
a.
An understatement of the ending 2007 inventory results in an understatement of net income for 2007 and results in an overstatement of net income for 2008. Current assets and retained earnings will be understated on the balance sheet prepared at the end of 2007 but will be 
correctly stated on the balance sheet prepared at the end of 2008.


b.
Inclusion of goods acquired on a consignment basis as part of the ending inventory in 2007 results in an overstatement of net income for 2007. If the goods are sold during 2008, net income will be understated for 2008 because cost will be included twice: once in inventory and once in current purchases. Assets and retained earnings will be overstated on the balance sheet prepared at the end of 2007 but will be 
correctly stated on the balance sheet prepared at the end of 2008.


c.
A purchase of merchandise at the end of 2007 not recorded as a purchase until 2008 but included in ending inventory of 2007 results in the overstatement of net income for 2007 and the understatement of 
accounts payable. Net income for 2008 will be understated. Retained earnings will be overstated on the balance sheet prepared at the end of 2007 but will be correctly stated on the balance sheet prepared at the end of 2008.

20–33.
(Concluded)


d.
A sale of merchandise at the end of 2007 not recorded until 2008 and excluded from the 2007 ending inventory results in an understatement of net income by an amount equal to the sales price of the merchandise in 2007 and an overstatement of net income by a similar amount in 2008. Accounts Receivable and Retained Earnings balances will be 
understated on the balance sheet prepared at the end of 2007 but will be correctly stated on the balance sheet prepared at the end of 2008.


e.
Goods shipped to consignees and reported as sales in 2007 result in an overstatement of net income equal to the gross profit in 2007 and an understatement of net income by a similar amount in 2008. Accounts Receivable and Retained Earnings will be overstated and inventory 
understated on the balance sheet prepared at the end of 2007 but will be correctly stated on the balance sheet prepared at the end of 2008.


f.
There is no effect on the balance sheets for either 2007 or 2008. The 2007 income statement will have an understatement of sales resulting in an understatement of gross profit, but this is offset by an equal overstatement of gain on sale—machinery so that net income is not 
affected. The 2008 income statement will be correctly stated.


g.
An understatement of depreciation expense in 2007 is offset by an understatement of gain on sale—equipment or an overstatement of loss on sale—equipment (because the debits to the cash, accumulated depreciation—equipment, and loss accounts must be equaled by credits to the equipment and gain accounts), resulting in no effect on net 
income for 2007. The balance sheets for 2007 and 2008 and the income statement for 2008 will be correctly stated.


h.
An understatement of depreciation expense in 2007 results in an overstatement of net income for 2007. There is no effect on net income for 2008. The accumulated depreciation—equipment account will be 
understated for 2007 and 2008 by the missing expense amount, and the retained earnings account will be overstated at the end of both years.


i.
The understatement of notes receivable is compensated by an equal overstatement of accounts receivable. The total assets for 2007 and 2008 will be correctly stated. Net income will also be correctly stated for 2007 and 2008.

20–34.
Because the correction of the error can still be made to the 2007 statements, the 2006 statements should be restated for comparative purposes. 

Bodie Corporation


Comparative Income and Retained Earnings Statements


For the Years Ended December 31




2007


2006


Sales

$4,600,000
$4,350,000


Cost of goods sold


2,357,000*

2,294,500†

Gross profit

$2,243,000
$2,055,500


Expenses


1,598,000


1,533,000

Net income

$
645,000

$
522,500

Beginning retained earnings

$1,452,000
$1,077,500


Net income


645,000

522,500


Dividends


(157,000)

(148,000)


Ending retained earnings

$1,940,000
$1,452,000


*Cost of goods sold is increased by $11,000 to reflect the corrected beginning inventory balance.


†Cost of goods sold is decreased by $11,000 to reflect the corrected ending inventory balance.

20–35.
Retained Earnings

2,100



Sales Salaries Payable


1,900



Sales Salaries Expense


200


Interest Receivable

250


Interest Revenue

200



Retained Earnings


450


Prepaid Insurance

200


Insurance Expense

300



Retained Earnings


500


Sales


500


Retained Earnings

1,400



Advances from Customers


1,900


Equipment

2,000


Depreciation Expense—Equipment

155



Accumulated Depreciation—Equipment


210*



Repairs Expense


900



Retained Earnings


1,045


*Depreciation for 2007: 0.05 ( $1,100

$  55


Depreciation for 2008: 0.10 ( $1,100



110


Depreciation for 2008: 0.05 ( $900


45


$210
20–36.


Effect on 2006


Effect on 2007



Net Income


Net Income



Under-
Over-
No
Under-
Over-
No



statement
statement
Effect
statement
statement
Effect
a.
Certain items of ending


inventory were acciden-


tally not counted at the


end of 2006.
X




X

b.
Machinery was sold in 


May 2006, but the com-


pany continued to deduct 


depreciation for the re-


mainder of 2006, although 


the asset was removed 


from the books in May.
X





X

c.
The 2006 year-end purchases


of inventory were not re-


corded until the beginning 


of 2007, although the in-


ventory was correctly 


counted at the end of 2006.

X

X

d.
Goods sold on account


in 2006 were not recorded


as sales until 2007.
X




X

e.
Insurance costs incurred


but unpaid in 2006 were


not recorded until paid


in 2007.

X

X

f.
Interest revenue in


2006 was not recorded


until 2007.
X




X

g.
The 2006 year-end purchases


were not recorded until


the beginning of 2007.


The inventory associated


with these purchases was


omitted from the ending


inventory count in 2006.


X



X

h.
A check for January 2007


rent was received and


recorded as revenue at


the end of 2006.

X

X

i.
Interest accrued in 2006


on a note payable was


not recorded until it was


paid in 2007.

X

X

PROBLEMS

20–37.

1.
Sum-of-the-years’ digits depreciation on equipment
2005 (5/15 ( $500,000) =
$
166,667

2006 (4/15 ( $500,000) =
133,333

2007 (3/15 ( $500,000) =

100,000

$
400,000


Book value as of January 1, 2008: $513,000 – $400,000 = $113,000


Total expected salvage value as of January 1, 2008: $13,000


Expected remaining useful life as of January 1, 2008: 2 years


2008 depreciation expense: ($113,000 – $13,000)/2 years remaining = $50,000


Straight-line depreciation on building
2005 ($900,000/40) =
$22,500

2006 ($900,000/40) =
22,500

2007 ($900,000/40) =

22,500

$67,500


Book value as of January 1, 2008: $900,000 – $67,500 = $832,500


Total expected salvage value as of January 1, 2008: $0


Expected remaining useful life as of January 1, 2008: 42 years


2008 depreciation expense: ($832,500 – $0)/42 years remaining = $19,821


Total depreciation expense in 2007: $100,000 + $22,500 = $122,500


Total depreciation expense in 2008: $50,000 + $19,821 = $69,821

2.




2008


2007

Income before depreciation

$
890,000
$
856,000

Depreciation expense


69,821

122,500
Net income

$
820,179
$
733,500

Earnings per share of common stock

$4.10

$3.67

20–38.

Barney Corporation

Comparative Balance Sheets

December 31, 2008, 2007, and 2006



Assets
2008
2007
2006

Cash

$
249,000
$
219,000
$
165,000

Equipment


150,000

150,000

150,000

Accumulated depreciation—equipment


(60,000)

(30,000)

(15,000)

Total assets

$
339,000
$
339,000
$
300,000

Liabilities and Stockholders’ Equity

Current liabilities

$
177,000
$
177,000
$
147,000

Common stock


165,000

165,000

165,000

Retained earnings (deficit)


(3,000)

(3,000)

(12,000)

Total liabilities and stockholders’ equity

$
339,000
$
339,000
$
300,000
Barney Corporation

Comparative Income Statements

For the Years Ended December 31, 2008, 2007, and 2006




2008
2007
2006

Sales

$
315,000
$
300,000
$
255,000

Less:
Cost of goods sold


(240,000)

(225,000)

(189,000)

Administrative expenses


(12,500)

(23,500)

(28,000)

Oil and gas exploration costs


(32,500)

(27,500)

(35,000)

Depreciation expense—equipment


(30,000)

(15,000)

(15,000)

Net income

$
0
$
9,000
$
(12,000)
Barney Corporation

Comparative Statements of Retained Earnings

For the Years Ended December 31, 2008, 2007, and 2006




2008
2007
2006
Beginning retained earnings

$
(3,000)
$
(12,000)
$
0
Add net income/subtract net loss


0

9,000

(12,000)

Deduct dividends


0

0

0
Retained earnings, December 31, 2008

$
(3,000)
$
(3,000)
$
(12,000)
20–38.
(Concluded)

COMPUTATIONS:

DEPRECIATION

Straight-line depreciation: ($150,000 – $0)/10 years = $15,000 per year


Depreciation
Accumulated
Book

Year
    Amount    
Depreciation
   Value  
2006
$15,000
$15,000
$135,000

2007
15,000
30,000
120,000

Double-declining-balance percentage: (100%/8 years remaining) ( 2 = 25%

Depreciation expense for 2008: $120,000 × 0.25 = $30,000

OIL AND GAS DRILLING COSTS

Because the change from full cost to successful efforts is a change in accounting principle, the statements must be retrospectively adjusted.


  2008  
  2007  
  2006  

Increase in capitalized amount
$15,000
$15,000
$30,000

Plus amortization for the year

17,500

12,500

5,000
Cash expended during the year
$32,500
$27,500
$35,000
20–39.

1.

Machine A:

($45,000 – $0)/15 years = $3,000 per year

Machine B:


Original cost

$
160,000


Accumulated depreciation to January 1, 2008 ($10,000 ( 4)


40,000

Book value, January 1, 2008

$
120,000


Estimated residual value


10,000

Remaining depreciable base

$
110,000


Remaining useful life (9 years – 4 years taken)

÷
5

Depreciation expense, 2008

$
22,000

Building C:


Original cost

$
800,000


Accumulated depreciation to January 1, 2008 ($40,000 ( 3)


120,000

Book value, January 1, 2008

$
680,000


Estimated residual value


0

Remaining depreciable base

$
680,000

Depreciation expense, 2008 [$680,000 ( (17/153)]

$
75,556

20–39.
(Concluded)

Total depreciation for 2008:


Other assets

$
40,000


Machine A


3,000


Machine B


22,000


Building C


75,556

Total

$
140,556
2.



Bright Electronics



Statement of Retained Earnings


For the Year Ended December 31, 2008


Retained earnings, January 1, 2008, as previously reported

$
770,000


Add adjustment for machine cost erroneously expensed,



less the appropriate amount of accumulated depreciation


30,000

Adjusted retained earnings, January 1, 2008

$
800,000


Add net income ($470,000 – $140,556)


329,444




$
1,129,444


Deduct dividends declared


120,000

Retained earnings, December 31, 2008

$
1,009,444
3.

Machine A

45,000

Accumulated Depreciation—Machinery


15,000

Retained Earnings


30,000

20–40.

1.
The revision of the estimated life of the building is a change in estimate and should be accounted for prospectively. The change from straight-line to sum-of-the-years’-digits method to depreciate the equipment is a change in estimate 
effected as a change in accounting principle and is also accounted for prospectively. Finally, the change in the percentage of credit sales to expense to bad debts is a change in estimate and is also accounted for prospectively.

20–40.
(Concluded)

2.
To prepare the journal entries, one must first determine the amount of depreciation that must be recognized.

Equipment:

Initial depreciation expense: ($48,000 – $5,000)/10 years = $4,300 per year

Accumulated depreciation on January 1, 2009: $4,300 ( 4 years = $17,200

Book value on January 1, 2009: $48,000 – $17,200 = $30,800

Depreciation in 2009: ($30,800 – $5,000) ( (6/21) = $7,371

Building:

Initial depreciation expense: ($85,000 – $15,000)/15 years = $4,667 per year

Accumulated depreciation on January 1, 2009: $4,667 ( 4 years = $18,668

Book value on January 1, 2009: $85,000 – $18,668 = $66,332

Depreciation in 2009: ($66,332 – $15,000)/16 years remaining = $3,208

Depreciation Expense—Equipment

7,371

Accumulated Depreciation—Equipment


7,371

Depreciation Expense—Building

3,208

Accumulated Depreciation—Building


3,208

3.
To write off the actual bad debts:

Allowance for Bad Debts

5,500

Accounts Receivable


5,500

To record the estimated bad debts for 2009:

Bad Debt Expense

5,000*

Allowance for Bad Debts


5,000

*$250,000 ( 0.02 = $5,000

4.
Because the change in percentage is treated as a change in estimate, there is no cumulative adjustment at the beginning of 2009. However, the balance in the 
allowance for bad debts account should be analyzed to determine whether net accounts receivable are reported at their net realizable value. In this problem, the balance in the allowance account may be too high because of the overestimate of bad debt expense in past years, suggesting the need for a special reduction in bad debt expense this year to adjust the balance to the correct amount.

20–41.

Case 1

1.
A change in the amortization rate on patents is a change in estimate.

2.
A change in estimate should be reflected in the current period and in future periods. No separate “catch-up” adjustment is required. Additionally, no retrospective adjustment of the financial statements is needed. The journal entry to record the amortization of patents for 2008 would be

Amortization of Patents

750,000

Patents


750,000


($1,500,000 remaining book value – $0 salvage value)/2 years remaining life = $750,000

3.
This change in estimate will affect the balance sheet in that the book value of 
patents in the current and future years will decrease at a different rate than previously reported. The reverse of this effect will be reflected on the income statement in that amortization of patents in the current and future years will increase proportionately with the decrease in the book value of the patents.

Case 2

1.
A change in the method of calculating depreciation is a change in accounting 
estimate effected as a change in accounting principle.

2.
The change in depreciation method should be reflected in the current period and in future periods. No retrospective adjustment of prior financial statements is 
required.


The journal entry to record depreciation expense for 2008 is

Depreciation Expense

43,200


Accumulated Depreciation—Equipment


43,200


[($800,000 – $343,000) remaining book value – $25,000 salvage value]/10 years remaining life = $43,200

3.
This change in estimate effected as a change in accounting principle will affect the balance sheet in that the book value of equipment in the current and future years will decrease at a slower rate than previously reported because of the change from accelerated to straight-line depreciation. The effect of this change on the income statement is that equipment depreciation in the near future will be lower than it otherwise would have been; increased depreciation (relative to the accelerated depreciation amount) will be seen in the final years of the equipment’s life.

20–42.

1.

Computation of FIFO Net Income




2008
2007
2006
LIFO net income

$
200,000
$
130,000
$
140,000

Plus after-tax income effect from


decrease in FIFO cost of goods sold


30,000

14,400

13,200
FIFO net income

$
230,000
$
144,400
$
153,200
All Seasons Company

Comparative Statements of Retained Earnings

For the Years Ended December 31, 2008, 2007, and 2006




2008
2007
2006
Beginning retained earnings

$
640,800
$
496,400
$
300,000
Add adjustment for increase in income before


2006 stemming from change to FIFO


0

0

43,200

Adjusted retained earnings

$
640,800
$
496,400
$
343,200

Add FIFO net income


230,000

144,400

153,200

Deduct dividends


0

0

0
Ending retained earnings

$
870,800
$
640,800
$
496,400
2.
The note disclosure includes line-by-line comparisons for each year reported (2006, 2007, and 2008) for each financial statement. In order to prepare this note disclosure, the financial statement preparer needs to know balance sheet, income statement, and statement of cash flows data for both LIFO and FIFO for all three years.

20–43.

Because the change involves a revision in the estimated useful life, the change is handled prospectively. The book value at the end of 2007 is $72,000 computed as 
follows:

Depreciation expense for 2007:

$120,000 ( 0.40 = $48,000

Book value on Dec. 31, 2007:

$120,000 – $48,000 = $72,000

With the revised estimated useful life, the new double-declining-balance percentage is computed as follows:


100%/2 years = 50% ( 2 = 100%

20–43.
(Concluded)

Thus, the appropriate percentage to apply to the book value in calculating depreciation expense is 100%. Recall that the limitation on the declining-balance methods is that depreciation is not taken once the book value is equal to the residual value. The entry to record depreciation expense for 2008 is

Depreciation Expense

60,000

Accumulated Depreciation—Computers


60,000

$72,000 ( 100% = $72,000. However, depreciation should not result in the book value falling below the estimated salvage value. Therefore, depreciation expense is limited to $60,000.

20–44.

1.

Computation of FIFO Net Income





2008


2007


2006


2005


LIFO net income

$
180,000
$
156,000
$
138,000
$
120,000

Add (subtract) income effect from 


change in FIFO cost of goods sold 


computed using the annual change 


in the LIFO reserve


16,000

42,000

(34,000)

30,000

Add (subtract) income tax effect from


change in FIFO cost of goods sold


(6,400)

(16,800)

13,600

(12,000)


FIFO net income

$
189,600
$
181,200
$
117,600

$138,000




2008


2007


2006


2005


FIFO net income

$
189,600
$
181,200
$
117,600
$
138,000
Income tax expense (40% of pretax income)


126,400

120,800

78,400

92,000

Pretax income (net income/0.60)


316,000

302,000

196,000

230,000

Cost of goods sold (difference between


pretax income and sales)


184,000

198,000

304,000

270,000
Sales

$
500,000
$
500,000
$
500,000

$500,000
Down Under, Inc.

Comparative Income Statements

For the Years Ended December 31, 2008, 2007, and 2006




2008
2007
2006
Sales

$
500,000
$
500,000
$
500,000
Less FIFO cost of goods sold


184,000

198,000

304,000

Gross profit

$
316,000
$
302,000
$
196,000

Less income tax expense (40%)


126,400

120,800

78,400
Net income

$
189,600
$
181,200
$
117,600
20–44.
(Concluded)

2.

Down Under, Inc.

Comparative Statements of Retained Earnings

For the Years Ended December 31, 2008, 2007, and 2006




2008
2007
2006
Beginning retained earnings

$
396,800
$
230,600
$
110,000
Add adjustment for increase in income before


2006 stemming from change to FIFO


0

0

18,000

Adjusted retained earnings

$
396,800
$
230,600
$
128,000

Add FIFO net income


189,600

181,200

117,600

Deduct dividends


(25,000)

(15,000)

(15,000)

Ending retained earnings

$
561,400
$
396,800
$
230,600
3.

	For 2008
	Computed
Using LIFO
	As Reported
Using FIFO
	Effect of
Change

	Sales
	$500,000
	$500,000
	$         0

	Cost of goods sold
	  200,000
	  184,000
	 (16,000)

	Gross profit
	$300,000
	$316,000
	$16,000

	Income tax expense
	  120,000
	  126,400
	    6,400

	Net income
	$180,000
	$189,600
	$  9,600


	For 2007
	As Originally
Reported
	Using FIFO
	Effect of
Change

	Sales
	$500,000
	$500,000
	$         0

	Cost of goods sold
	  240,000
	  198,000
	 (42,000)

	Gross profit
	$260,000
	$302,000
	$42,000

	Income tax expense
	  104,000
	  120,800
	  16,800

	Net income
	$156,000
	$181,200
	$25,200


	For 2006
	As Originally
Reported
	Using FIFO
	Effect of
Change

	Sales
	$500,000
	$500,000
	$          0

	Cost of goods sold
	  270,000
	  304,000
	   34,000

	Gross profit
	$230,000
	$196,000
	$(34,000)

	Income tax expense
	    92,000
	    78,400
	  (13,600)

	Net income
	$138,000
	$117,600
	$(20,400)


Computations:

LIFO gross profit can be computed by dividing net income by 0.6.

LIFO income tax expense is then LIFO gross profit multiplied by 0.4.

LIFO cost of goods sold is the difference between sales and LIFO gross profit.

20–45.

1.
a.
Prepaid Insurance

9,300

Insurance Expense

3,100

Retained Earnings


12,400

To adjust for nonrecognition of prepaid insurance

expense in 2007 ($15,500/5 yrs. = $3,100 ( 4 yrs.).


b.
Allowance for Bad Debts

12,500

General and Administrative Expenses


12,500

To reflect the reduction in losses from bad debts

($2,500,000 ( 0.005 = $12,500).


c.
Retained Earnings

37,750



Cost of Goods Sold

11,750

Inventory


49,500

To adjust for overstatement in both beginning

and ending inventories.


d.
Machinery


75,000



Depreciation Expense

6,250*

Retained Earnings


68,750

Accumulated Depreciation—Machinery


12,500†
To adjust for the expensing of the purchase of

machinery in 2007.

*$75,000 – $12,500 = $62,500/10 years = $6,250

†$6,250 ( 2 years = $12,500

2.

Hiatt Textile Corporation



Schedule of Corrected Net Income



For the Years Ended December 31, 2008 and 2007




2008


2007

Reported net income

$
550,000
$
487,500

Recognition of prepaid insurance


(3,100)

12,400

Change in accounts receivable’s bad debt 

expense rate from 2% to 1½%


12,500

—

Ending inventory overstated:

2007


37,750

(37,750)

2008


(49,500)

Expensing of machine purchase:

Decrease in operating expenses—2007




68,750

Increase in operating expenses—2008


(6,250)


Corrected net income

$
541,400
$
530,900
20–46.

Although not required, the following work sheet may be useful in solving this problem.



Alpine Corp.
Work Sheet for Correction of Account Balances

January 1, 2008




Retained
Net Income
Net Loss
Net Loss




Earnings
Year Ended
Year Ended
Year Ended
Accounts Requiring Correction




Jan. 1, 2005
Dec. 31, 2005
Dec. 31, 2006
Dec. 31, 2007
in 2008



Explanation
Dr.
Cr.
Dr.
Cr.
Dr.
Cr.
Dr.
Cr.
Dr.
Cr.
Account

Reported retained earnings

balance, Dec. 31, 2004




40,500


















Reported net income for

year ended Dec. 31, 2005








9,000













Reported net loss for year

ended Dec. 31, 2006










5,600












Reported net loss for year

ended Dec. 31, 2007














6,200








(a)
Failure to record 2005


dividends declared, 


$7,500, until paid in
(No entry, see retained


2006







earnings statement)


Failure to record 2006


dividends declared,


$7,500, until paid in
(No entry, see retained


2007







earnings statement)

(b)
Improvements in build-


ings and equipment


charged to expense at


end of April 2004,


$4,800




4,800













4,800


Buildings and













Equipment


Estimated life of equip-


ment, 8 years


400



600



600



600





2,200
Accumulated













Depreciation—













Buildings and













Equipment

(c)
Understatement of mer-


chandise inventory:


Dec. 31, 2005, $1,500








1,500

1,500












Dec. 31, 2006, $2,150












2,150

2,150







20–46.
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Retained
Net Income
Net Income
Net Income




Earnings
Year Ended
Year Ended
Year Ended
Accounts Requiring Correction




Jan. 1, 2005
Dec. 31, 2005
Dec. 31, 2006
Dec. 31, 2007
in 2008



Explanation
Dr.
Cr.
Dr.
Cr.
Dr.
Cr.
Dr.
Cr.
Dr.
Cr.
Account

(d)
Failure to record mer-


chandise in transit:


Dec. 31, 2006, $1,900 


(no effect on income)


Dec. 31, 2007, $2,750


















2,750


Merchandise













Inventory













(in Transit)






















2,750
Purchases

(e)
Failure to record accrued


sales commissions:


Dec. 31, 2006, $1,050










1,050





1,050





Dec. 31, 2007, $850














850





850
Sales 













Commissions

(f)
Failure to recognize
Payable


supplies on hand:


Dec. 31, 2006, $600












600

600









Dec. 31, 2007, $1,250
















1,250

1,250


Supplies




400

45,300

600

10,500

8,750

2,750

10,400

2,300

8,800

5,800

Corrected retained earnings

balance, Jan. 1, 2005


44,900























45,300

45,300
Corrected net income, year

ended Dec. 31, 2005






9,900





















10,500

10,500
Corrected net loss, year

ended Dec. 31, 2006












6,000

















8,750

8,750
Corrected net loss, year

ended Dec. 31, 2007
















8,100















10,400

  10,400
Net correction to retained

earnings as of Jan. 1, 2008



















3,000
Retained 


Earnings












8,800

8,800
20–46.
(Concluded)

1.


Buildings and Equipment

4,800

Merchandise Inventory (in transit)

2,750

Supplies

1,250

Accumulated Depreciation—Buildings and Equipment

2,200

Purchases

2,750

Sales Commissions Payable*

850

Retained Earnings

3,000

To correct various errors.

*This assumes that the sales commissions have not yet been paid in cash.

Retained Earnings

16,000

Paid-in Capital in Excess of Par

16,000

To correct paid-in capital credit posted to retained 

earnings.

2.

Alpine Corp.

Retained Earnings Statement



January 1, 2005–December 31, 2007


Retained earnings, January 1, 2005

$44,900

Deduct dividends declared December 15, 2005

    7,500

$37,400

Add net income for 2005


9,900
Retained earnings, December 31, 2005

$47,300

Deduct dividends declared December 15, 2006


7,500


$39,800

Deduct net loss for 2006


6,000
Retained earnings, December 31, 2006

$33,800

Deduct net loss for 2007


8,100
Retained earnings, December 31, 2007

$25,700
3.

Retained Earnings






Mar. 6, 2006, correction per


Dec. 31, 2007, balance

entry in (1)

16,000
before correction

38,700

Jan. 1, 2008, balance as


Correction per entry in (1)


3,000
corrected

25,700

41,700


41,700
Jan. 1, 2008, balance as




corrected


25,700

20–47.

1.
a.
Retained Earnings

14,250

Sales Commissions Expense


14,250


b.
Inventory

15,000



Retained Earnings

54,200

Cost of Goods Sold


69,200

Income Overstated (Understated)


2006


2007


2008

$(41,300)
$
41,300
$
(54,200)




54,200

(15,000)

$
(41,300)
$
95,500
$
(69,200)
2.

Hinckley Company



Statement of Retained Earnings



For the Year Ended December 31, 2008




Retained earnings, January 1, 2008, as previously reported

$1,265,000

Deduct net adjustment for prior years’ overstatement of income


(68,450)*

January 1, 2008, balance as adjusted

$
1,196,550

Adjusted net income ($300,000 + $14,250 + $69,200)


383,450

Deduct dividends


(175,000)

Retained earnings, December 31, 2008

$
1,405,000
*$54,200 + $14,250 = $68,450

20–48

1.
The answer is B.

Double-declining-balance percentage: (100%/8 years) ( 2 = 25%



Depreciation
Accumulated
Book

Year
   Computation  
    Amount    
Depreciation
   Value   
2006
$200,000 ( 0.25
$50,000
$50,000
$150,000

2007
$150,000 ( 0.25
37,500
87,500
112,500

Depreciation expense for 2008: ($112,500 – $10,000)/6 years remaining = $17,083

2.
The answer is A. The LIFO net income is $78,000 plus the after-tax FIFO effect of $6,750 equals $84,750 in FIFO net income. Remember that the prior-year effects are reported by retrospectively adjusting net income for each year, with an 
adjustment to beginning retained earnings of the earliest year reported for prior-year effects.

3.
The answer is D. Because the shipping terms are FOB destination, no sale should be recognized until the shipment arrives. So, no sale of $4,400 should have been recorded in 2008. In addition, the goods should have been included in ending 
inventory, reducing cost of goods sold by $3,000. The net effect is that net income was overstated by $1,400.

CASES

Discussion Case 20–49

This case is designed to provide an introduction to the differences between a change in accounting 
estimate and a change in accounting principle.

Situation A

A change in the depreciable life of a plant asset is a change in accounting estimate. According to GAAP, the change in estimate should be reflected in current and future periods. 

Situation B

A change in the method of inventory valuation represents a change in accounting principle. Therefore, all financial statements for prior years presented for comparative purposes must be retrospectively adjusted. In addition, the financial statement notes must include an item-by-item description, for each year, of the difference that the accounting principle change made in the reported financial numbers.

Discussion Case 20–50

A change in accounting principle results from adoption of a generally accepted accounting principle that differs from the one used previously for reporting purposes.

A change in accounting principle is implemented by recomputing all financial statement amounts for the preceding years (at least those that will be included in the current year’s comparative financial statements). These recomputed amounts are included in the comparative financial statements reported this year. Any income effect in even earlier years is shown as an adjustment to the beginning balance in 
retained earnings for the earliest year reported. Note disclosure gives a line-by-line comparison of these retrospectively adjusted financial statements and the financial statements (using the former accounting principles) that were originally reported.

A change in accounting estimate occurs as new events, experience, or information is obtained that 
indicates the need to revise prior estimates.

A change in accounting estimate should be accounted for in the period of change if the change affects that period only or the period of change and future periods if the change affects both.

Discussion Case 20–51

This case focuses on the differences in disclosure between making a change in an estimate and making a change in an accounting principle. The following points can be discussed when dealing with the issues of this case:

· For a change in estimate, the effect is disclosed prospectively, that is, only current and future financial statements will reflect the change. If the change materially affects the financial statements, then note disclosure is appropriate (see the illustrations in the body of the text for examples of appropriate note disclosure).

· On the other hand, a change in accounting principle requires, in most instances, a retrospective 
restatement of all financial numbers reported in the primary financial statements. Note disclosure gives a line-by-line comparison of these retrospectively adjusted financial statements and the financial statements (using the former accounting principles) that were originally reported.

· Because of the extensive disclosure required when changing an accounting principle, managers who are looking for ways to increase income prefer the less-publicized method of changing accounting 
estimates.

Discussion Case 20–52

This case focuses on the difference in disclosure between a change in accounting principle and a change in accounting estimate. Students should understand that disclosure requirements can influence management’s selection of an accounting technique. The following issues should be identified in discussing this case:

· Because each of the proposed changes involves a change in accounting estimate, the effects of the changes would be reported in the current and future periods. No retrospective adjustment of prior 
periods’ financial statements is required.

· Because accounting for a change in estimate involves no disclosure in the body of the financial statements, these changes might be made without attracting the attention of investors and creditors. 
Disclosure in the notes to the financial statements is required for material estimate changes. Also, keep in mind that many, if not most, changes in estimates are completely justified. But be aware that some companies have made changes in estimates in an attempt to bolster otherwise sagging income figures.

· Recall from Chapter 1 that one of the qualitative characteristics of accounting information is that of representational faithfulness. While management has a great deal of latitude in making estimates in the financial statements, the accountant must make sure that the financial statements represent what they purport to represent.

Discussion Case 20–53

In this case, students are exposed to an actual example of an identical object being accounted for differently by two different firms. Airline A in the example is Delta Air Lines; Airline B is PanAm. This example illustrates that management’s judgment plays a significant role in influencing the results portrayed in a firm’s financial statements. The following issues may be discussed when reviewing this case:

· With proper maintenance, it is reasonable to expect an airplane to last longer than 20 years. However, the cost of maintaining a plane increases over time, and there would come a point where the costs associated with maintaining an airplane exceed the benefit received from the plane. Those costs 
include both the actual cash outlays associated with periodic maintenance as well as the potential costs associated with the increased likelihood of an accident and its associated ramifications (i.e., lawsuits, government action).

· In this example, it is interesting to note that the firm in the stronger financial condition was depre-
ciating the planes over the shorter time period. Other companies that have experienced financial difficulties in the airline industry also used longer time periods for depreciation. This has the effect of 
increasing net income in the short term.

Discussion Case 20–54

Blockbuster maintained it lengthened its estimate of useful life for its videotapes because of business 
experience; the tapes were lasting longer. This is a valid reason. An additional reason, however, may have been that the change added nearly 20% to Blockbuster’s reported net income. The stock market participants considered this accounting change and other liberal accounting policies employed by Blockbuster. Contrary to what might be expected, the net result was a $226 million drop in market value.

However, as explained in Chapter 11, Blockbuster management worked hard to convince financial 
analysts that the company’s accounting changes were justified. They were partially vindicated when, within two weeks of the stock price drop, Blockbuster’s stock had regained most of the 22% loss.

Case 20–55

1.
Disney reported one accounting change in 2004 and one accounting change in 2003. As shown on the face of the income statement, the 2003 change related to revenue recognition.  The 2004 change required the consolidation of EuroDisney and HongKong Disneyland. The 2003 change resulted in a cumulative effect, which is how the impact of a change in accounting principle was reported before the adoption of FASB Statement No. 154.

2.
The primary impact of the change in revenue recognition (mandated by EITF No. 00-21) is that certain NFL revenue that had been recognized will be recognized ratably over the contract period. The far-reaching change in variable-interest entity accounting was mandated by FIN No. 46R. This change requires the primary beneficiary of the risks and rewards of the VIE to consolidate the VIE.

3.
The change in revenue recognition resulted in a $71 million cumulative effect reduction in net 
income. The income statement shows that this change decreased EPS by $0.03. The consolidation of the variable-interest entities does not affect EPS inasmuch as the earnings of the VIE’s are 
included with Disney’s. 

4.
The accounting change in 2003 did not require an outflow of cash. This can be seen by the fact that the entire $71 million net income reduction associated with the accounting change is added back in the computation of cash flow from operating activities. The consolidation of the variable-interest 
entities in 2004 affects cash flow because the cash flow of the entities is added to the cash flow of Disney.
Case 20–56

1. It appears that representatives of the company were shipping inventory to customers and counting those shipments as sales even though the criteria for revenue recognition had not been met. 
Customers did not order the inventory and were allowed to return it if they could not sell it. As the company states in the note, this arrangement should more correctly have been accounted for as a consignment.

2.
For the 2-year period, total net earnings are the same. The difference is that the “As Reported” 
columns report much more income in the first year and less in the second. If compensation, promotions, and so forth, were based on income, then the more income reported in the first year, the sooner those perks could be realized.

3.
Had the error been uncovered in 1994, it could have been corrected by debiting Retained Earnings for the amount of the overstatement of earnings, debiting Inventory for the amount of inventory that had been incorrectly removed from the books, and crediting Accounts Receivable.

4.
As we found in the answer to question 2, the error appears to have been self-correcting. Thus, no journal entry would have been made in 1995.

Case 20–57

1.
The three methods for overstating revenues included (1) understating fees to be refunded, (2) recognizing revenue that should have been deferred, and (3) recording fictitious revenue. In the first case, the company did not make the entry recognizing sales returns. That entry should have been:




Sales Returns

xxx




Payable to Customers


xxx


In the second case, the company incorrectly recognized revenue that should have been recorded as an unearned revenue. The proper entry should have been:




Cash

xxx




Unearned Revenue


xxx


In the third case, the company created revenue through fictitious entries. The entry would have been:



Accounts Receivable

xxx




Revenue


xxx

2.
Reported revenues should have been $4,882.2 million, and reported expenses should have been $4,635.3 million. The resulting amount of income before taxes and below-the-line items would then have been $246.9 million. This amount differed from the reported figure by only $47.8 million. The larger difference between income from continuing operations and net income resulted from the 
cumulative effect of the accounting change.

3.
The accounting change “related to revenue and expense recognition for memberships.” The change resulted in a decrease in the amount of income that should have been reported in prior periods. 
Although not technically classified as the correction of an error, it appears that the accounting change was made because Cendant had been too aggressive in its recognition of membership revenue in prior years. 

Case 20–58

This assignment provides students with the opportunity to develop a systematic method for analyzing 
errors. This is an excellent critical thinking exercise. While there are no hard-and-fast answers associated with the exercise, the following generalizations might be helpful.

1.
Counterbalancing errors often involve a current account from the balance sheet as well as an income statement account (e.g., Wages Payable and Wages Expense).

2.
Noncounterbalancing errors typically involve a long-term asset (forgetting depreciation) or a long-term liability (forgetting to amortize a bond discount or premium account).

Case 20–59

1.
The indirect effect included in Illustration 1 in Appendix A stems from a profit-sharing plan. The 
impact of increasing the profit-sharing payment based on increased profits in prior years is shown as an expense in the year the change in accounting principle is made.

2.
The areas of difference between Statement No. 154 and IAS 8 “include the correction of an error, indirect effects of a change in accounting principle, and certain elements of disclosure.”

Case 20–60

This debate should cause students to think about the different disclosure possibilities associated with changes in accounting principles. There are advantages and disadvantages to both types of disclosure. Restatement allows all years being disclosed to be compared using similar standards for each year. Such is not the case when a cumulative adjustment is employed. Prior years’ financial statements are provided using the prior accounting standard. However, the cumulative adjustment approach is often easier and less costly. And if pro forma information is disclosed in the notes to the financial statements, then information is available for comparing a firm’s financial statements across time using similar accounting methods.

This debate boils down to a cost-benefit argument. The APB came down on the side that the cost of 
restating the financial statements, with a few exceptions, exceeded the benefits obtained. The FASB 
disagreed and now requires retrospective application of the new accounting principle for all years for which financial statements are reported.

Case 20–61

Given the information in the case, it seems possible to manipulate the company’s depreciation estimates so that the change to a declining-balance method of depreciation will not reduce income in the current period. Auditors, both internal and external, will question the changes in estimates to ensure that these changes are justifiable.

A change in depreciation method or in estimated lives will have no effect on cash flows. Some might 
argue that a company could save taxes with an accelerated method. Remind students that the IRS tax code spells out in detail how long-term assets are to be depreciated and that the method used for financial accounting purposes will not affect the firm’s tax liability.

This case again reminds students that accounting involves judgment and that issues of judgment can 
present the accountant with ethical dilemmas.

Case 20–62

Solutions to this problem can be found on the Instructor’s Resource CD-ROM or downloaded from the Web at http://stice.swlearning.com.
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